ETRIAOZR (SFEAN)

TH3E5A 1R’

BT £ 3 it BT £ 5 3 it
B ZEET 0 0 0 |'= RHT 6 12 18
KIZHT 171 164 335 |#KHET 23 25 48
5T 2 2 4 |hBHT 2 6 8
= AT 249 265 514 |3 LLIET 13 20 33
=AdaE 84 89 173 |"T EHET 10 9 19
S BT 6 4 10 ([#2JEET 4 1 5
= ] BT 72 75 147 |[(EHT 12 18 30
FFHET 0 0 0 |5<ET 24 24 48
JKATET 32 42 74 |t RHET 0 0 0
;A EHHET 5 14 19 (T & ET 224 250 474
YR A< BT 0 0 0 ||Fa B /T 0 1 1
4/ SERET 14 12 26 |[f& R HET 138 117 255
FF+EET 9 8 17 (| SHET 93 81 174
HH R HET 6 5 11 [T 0 0 0
SE ARET 11 14 25 |— & HT 5 4 9
Y& A BT 1 4 5 & FHT 42 42 84
HHHET 3 2 5 [z [RHET 147 246 393
J\BEHT 7 27 34 ||75;HAT 31 39 70
FREAET 18 14 32
AHT 15 6 21
L AHT 0 1 1
b LR HT 3 10 13
JCHT 14 18 32
FHT 2 10 12
{ENSEET 25 24 9| & i 1,523 1,705 3,228




